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PHYSICS (UBA) - Jiziew ) - 024 . g
Q. Paper : IT (Objective Type) PAPER CODE = 7473 GAS5»2) 1T - 24
Time Allowed : 15 Minutes (.;,:fuzg) &> 15 1
Maximum Marks : 12 LH}Q'—/‘“?—? 12 /f
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question,
The half-life of a certain fz_ugudpwo‘*ﬂl;i/p’uwéi.;}@m ,.;_w..ghﬁu..jw?i/r’u‘fig 1-1
isotope is one day. What is the quantity gf isotope after two days :

One-quarter 3172 {1 (B) One-half Lfé_lgxdgf (A)
None of these u.?’d[c_ufuf (D) One-eighth /118 ©)
The turn ratios of a transformer is 10. It means : 9 210 o’ L}/ u»é il S/ Jil2
N
v = V% (D) N;= 10N, (©) N, = % (B) L= 100, (A)
To make burglar alarm we use V4 SV~ 4;"_ Lk rJUT )i' 3
NAND gate -bfie (D) NOR gate ..L;,fjt (C) ORgate .:J:T (B) NOTgate :qf.bt (A)
The relation between Vv, f and A of a wave is : fe Jb’ Jn' L A‘%’s J:llj':":-(/" « §Us d, S|4
=¥ © A=l © LANE) )

Which refers to computer programmes and the manuals . e /Lr.:’ L S L :( o ol /"f/'i; });;r 5
that support them : ( .

Information ﬂwl (D) Software zsedlL- (C) Hardware 7zs5/} (B) Data k5 (A)
The loudness of a sound is most closely related to it§ - fe by J( A2 »li K u’-"jiu J *5L-(6
Amplitude 32 (% (D) Wavelength i@;’sz (C) Period £/ (B)  Frequency (% (A)
Which compound is used for diagnosis @fbrain tumor - : ‘at'ndt*z’lﬁil,:fL/ufnf_d:gﬁ}@JdnJéL: 7
N-152 (D) ' H-3 (C) 1131 (B) P-32 (A)
Capacitance is defined as : ' fe ;:ltg d’ [ J ._y/'" J gff‘_,u.yf 8
V,
Vo409 % ©) av (B) vc (A)
Image formed by a eamera is : - Jx - J&@ﬁu‘!a/{ 9

Virtual, dpright and-diminished d}{:ffm!dﬁpuﬁ%u (B) Real, inverted and diminished S ermSIe S (A)
Real, inverted and magnified d*/,a(.;,f(jJ;‘J:, (D) Virtual, upright and magnified dz.%xsiu’ng.%;: (C)

The logical operation performed by this gate is : A:[ te b J"le c)’?{f .,QU L uf & -’»:.'f J1110
b-——)(

B
OR /T (D) AND 2! (C) NOR Jt (B) NAND %# (A)

L2 o5 " - - iy -
What happens to the intensity or : g_bzu/gf;a}d/w);{u!;_a_):a E&ld:iﬂ(}/uxl"zc_.,ffc.é)ﬁzg 11
the brightness of the lamps connected in series as more and more lamps are added :

Decreases < Uy (B) Increases e twilol (A)
Cannot be predicted .‘Ldﬁ"m (D) Remains the same b‘zu.?f}'/df (C)

From which of the following we can get information : u}é/{f‘bc}%{é}ld’C}ﬁ? I’c’..u";'_ pﬁpfi.,wt:) 12
almost about every thing :
Internet «.°*1 (D) Computer )g_.r (C) Teacher s (B) Books (U (A)
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10 2. Write short answers to any Five (5) questions : : Doz L oWl (5) é; e df .2
(i) Define time period and frequency. 2 -é-f ._y/"' J (j""':..(/ DY f'e (i)

(i) 1f 100 waves pass through  ~&Z 4K A543 s I 20 sec e LSty SIL i34 100 A1 (i
a point of a medium in 20 seconds. What is the frequency of the waves?

(iii) Think of several examples of ..unﬁ{&?y‘;Jc?f..fn[,Jﬂ?é.tzdt"’fufl&f:‘;.&}q/}y (i)
motion in every day life that are simple harmonic motion.

(iv) Write some uses of capacitors. &l Je1 2 £ }’,‘{( (iv)

(v) Write two characteristics of series combination of capacitors. &l .:-,yﬂ"»d’ IR , $) }'_‘v’( (v)

(vi) What is difference between fixed capacitor and variable capacitor? S‘{_J)k@t )’{ SS90 f:&"’jfg (vi)

(vii) What is the difference between cell and battery? Sl O/ WL G s (i)
(viii) Define resistance and write its unit. -&f L T ég - /;" s,( J?}; (viii)
10 3. Write short answers to any Five (5) questions : el Syr ey (5) 8y < O -3

(i) Define loudness of sound. ‘L‘c_dnd_: KU LSl LA 5L L -.-:‘,’;Jyrjjf ydmT (i)
How does it change with the increase in amplitude?
(ii) How can you reduce the level of noise pollution? 4 =/ |r 4’ - e J:)T 2 i)

(iii) What is meant by sonar (sound navigation and ranging)? fe sy V" < (sonar) sty (i)
(iv) What is difference between data and information? e g/ .U’ o cﬂ;lﬁl s 5 (iv)
(v) How are light signals sent through optical fiore? €U “e;’ d_/ &3 LA GJQ«?T S Fax (v)
(vi) What is the difference between hardware and software? e I A Ry sl Jaaisy (Vi)
(vii) Define atomic number'‘and.mass number. -g‘.él - f." J /,}J (W71 /..J-/ b (vii)
(viii) How can the scientist éstimate dead tree TJf & ﬁé o) I»'IVJU:J;;» e JBHIL C-14 WF - (viii)
age by Cé147
10 4. Write short answers to any Five (5) questions : H é:.u;zﬁ’ﬁ.:,wr (5) ik & Jf -4
(1) "Befiné power of lens, also wite its formula. T AV - SR S ()

(if)_According to sign conventions ?ugligiﬁslc-}q:lﬂﬁﬁfeufb/‘ﬂ/é‘&w:ﬁatw@/ (ii)
when object distance are taken positive and negative in spherical mirror.

(iii) Describe the principle focus of a convex lens __4‘5513 = rlﬂliz_.,v g J(? Jv){ Z A u’-(r'/ (iii)
by ray diagram. '
S U L v LU (iv)

(iv) Write two uses of logic gates.

(v) Draw the symbol of NOT gate and also write its truth table. &l J" Fr S aS ot (v)

| & s § S i)

(vii) Write working principle of electric motor. Ll U ¥ LS rb’ S J/"g! {vii)

(viii) What is right hand rule to R S D Lo oSy L i/ L (v
determine the magnetic poles of a current carrying coil?

( élu”» )

(vi) Define the term thermionic emission.

Y



(2)
(/['/ﬂf/'rlj/ (PART-II (5 2 )

Note : Attempt any TWO questions. e letwrne 3 09
1,1,2 L L oS S e nZ S I B s Sestp S Py () -8

5. (a) Whatis meant by refraction of wave? Explain the refraction of water waves diagrammatically
by using ripple tank.

5 e itre G 12V e B by o RUF L 61F o3 E 8525 14 (L)
(b) Two cap;cifors of capacitances _“4':((:"‘”&/3%4 }'}Q -é{'}l”ﬁ o‘.‘."‘rjﬂ/u(}ﬁul

644 F and 12 £ F are connected in series with 12V battery. Find the equivalent capacitance
of the combination. Find the potential difference across each capacitor.

4 6. (a) Explain transmission of radio waves through space. -g"‘,;c:) s u’-‘-f;/':.u: vétﬁg,g;; () -6

5 Hr I L3 SE b 1.5km <t -t 35cm ) 2KHZ w? Py 25 5 J8 s 5L (&)

(b) A sound wave has a frequency of 2KHz and wavelength 35cm. How long (will it
take to trave! 1.5km?

4 7. (@) Whatis an electron gun? How does it work in CRO?._.:_é;f.::.éL&;(}/rb’ﬁalgﬁ CRO ?.;_L[g@,)?l (W) .7
5 L2 AL et 20V SIS AN e 100/ S8 s Bt pri ) Lkl (L)

(b) A step up transformer has turn ratio 1:100. An altérnating’supply of 20V ..g";' f‘:t’“ é‘»d;.i'—?;
is connected across the primary coil. What isithe secondary voltage?
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